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Question Number : 1 Question Id : 8321474501 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The frequency of A.C. mains in India is

ePS8aSost A.C. o) GBwE) %%E?’.g}ééo Dend

Options :
60 Hz

220 Hz
S0 Hz

0 Hz

Question Number : 2 Question Id : 8321474502 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The unit of inductive reactance X 1s

ek (&85 X1 Do) aiarede) (Hkres0
Options :

Henry

1. %

Ohm



Farad

Hertz

Question Number : 3 Question Id : 8321474503 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The power factor 1s always
:%ﬁéags 5880 DQDPLT

Options :
1

1. %

Question Number : 4 Question Id : 8321474504 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The phase difference between v and 1. 18
Ve S0B05D i S0 B2° Fso

Options :

90"



0
L . 180

360"
4, ®

Question Number : 5 Question Id : 8321474505 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For a wave, the complete cycles per second 1s called

a8 8808, a8 DEDHB Hrd K(seed 908D
Options :
Angle
| % 5800
Period
, » S°®0

Wave length

SB0NAY .0
3. % i

Frequency

3"3’33‘@550
4. ¢

Question Number : 6 Question Id : 8321474506 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s an active element ?

806 8S® Bairde Koo J&?

Options :
1. %



Resister

2&%580
Inductor
, % ['Esatﬁéa’m
Capacitor
8286
3. %
Transistor
eP\30
4. 008

Question Number : 7 Question Id : 8321474507 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Kirchhof’s current law 1s based on the principle of conservation of

§552j_3 336355 Parse Qodsdo o Qs Aabebeio SPEHE G00h?

Options:
Momentum
@5&')53‘3?‘{0

Energy

58

2.  =®
Charge

3 v ERLle)

Mass

' (BD3g0°38



Question Number : 8 Question Id : 8321474508 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Imaginary part of an impedance 1s known as
2.8 ed8%0 Q) &BHE g 230 Depen?

Options :
Capacitance
3‘5‘3?355‘3

1, %

Resistance
28%%0

2. %

Conductance
PeeEes
3, %
Reactance
6@?@5‘3
]
4.«

Question Number : 9 Question Id : 8321474509 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The algebraic sum of all IR drops and emf 1n any closed loop in a network 1s zero 1s called
o8 356 O Ko doavod eR) IR @Hen ibOcky emf Gug) Desfehé Fnido

"mmcl&) ®otrd)

Options :

Kirchhof’s voltage law

éSB&qFJ 55§§ dchsho

1.¢



Kirchhof’s current law

§85&q'“_:: 3)&5}55 (a5 chsdo
2. %
Ohm’s law
£,0 VDO
3. %
Mesh analysis
R DZdes
4, %

Question Number : 10 Question Id : 8321474510 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The phase difference between inductive reactance and capacitive reactance 1s

e BbrEq) nbao 8arRid ObrEs) oty e o

Options :
0{}
1. %
180"
2. ¢
0
3. % 90
360"
4, %

Question Number : 11 Question Id : 8321474511 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Maximum power is delivered to a load when the load resistance across the
terminals 1s

BB@&@J s o grd 28%0 SR IPE ﬁ&‘é} 88 S86% Hode Fohatsod?

Options :

Equal to internal resistance of the network
SEH0), TwE) @Dégé D8%%0 JHdmS0

1.4
Double the internal resistance of the network
IE56), BwE) Sehteld 2&5%50 5&30@
2. %
Greater than the circuit resistance
Sech &%50 Lol SISVPY
3. %
Less than the circuit resistance
SecdH 80 Zo& BEN
4, %

Question Number : 12 Question Id : 8321474512 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The concept on which the Superposition theorem is based on the
00 SPRAR %gﬂoéo SErdorr 65 e

Options :
Duality
8330858850
1. %
Reciprocity
DB/ Bo

2. %



Linearity
BRoHS

3.¢

Non-linearity
FS-DQ0%08

Question Number : 13 Question Id : 8321474513 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The network theorems usually provide methods for solving a circuit.

A60) R)%FO@‘J@J G0 Hoaied) 050008 éﬁééwéa
©ORT.

Options :
Shorter methods

EJR’):}L DBeen
1. *

Elaborated methods

DEEEBOSRS écgéam

Non-complicated methods
Sogo 2 é?gé‘)ﬁm

Complex methods
K05 HHden

Question Number : 14 Question Id : 8321474514 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Thevenin's theorem replaces a complicated network connected to a pair of terminals with
AR ?ogf’oéo 2.8 86@2665“)55 ©orrosndy éoé@@:ﬁ BH0) aﬁé BAN

Options:
A single voltage source 1n parallel with a single resistor
2.8 8%508° HSrosSorr a8 Sﬁéé o0

1.%
A single voltage source in series with a single resistor
2.8 Q8%508° (B3t o8 ;S‘Séé SVlSle
2. %
A single current source 1n parallel with a single resistor
2.8 Q8%508° SSrosBorr 2.8 QLSS ([T o
3.¢¥
A single current source in series with a single resistor
2.8 D8°308° (BeBS® 2.8 Diing8 (Hawsde e
4. %

Question Number : 15 Question Id : 8321474515 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The theorem which provides a shortcut for finding the common voltage across any number
of parallel branches with different voltage sources 1s

33563 sﬁéé Srerod® 6R) aR) Jidrodd e“améé@m AL Sﬁge% &8
éécgti{mtg@& 90003 R)%Poéo

Options :

Superposition theorem

8o H6 SPRAS ?otgméo
1. %



Norton’s theorem
T80 DErodo
€ @

Millman’s theorem
333@‘35 2TP0S0
Q

Reciprocity theorem

@55555@ %Qﬂoéo

Question Number : 16 Question Id : 8321474516 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The time constant of RC circuit 18
RC Sexcho ::T:‘u:éé Soe) %:moéo

Options:
R
C
1. %
>
R
2. %
’} . ]
R*°C
3. %
RC
4. v

Question Number : 17 Question Id : 8321474517 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A capacitor of 2 uF capacity 1s discharged through a I ohm resistance and 2 henry
inductance then the quality factor Q 1s
2 F o fio 3awib 140 Q6%0 SHBak 2 2w DBEHED o Mot

Sohathod, OIPL TPy 57650 Q

Options :
100

1. %

1000
2.

Question Number : 18 Question Id : 8321474518 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A simple series RL - circuit 1 excited with a constant voltage source, then the speed of
response depends on the value of

2 3PTP6i (38 RL - Sodho SO Saéé ro08 $88SHYH00, By 890t
o DensD sl dotvod

Options :
LR

1. %

Al

2. ¢

3. %



e

Question Number : 19 Question Id : 8321474519 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The impedance of a series LC- circuit at resonance 1s

es0 a’:g @5'3 LC- Secho o) 038550

Options:
Maximum
latarele)

1. % !

Minimum
B0

2. ¢ B‘"‘
Infinite

5« ©OR0B0
0

4, %

Question Number : 20 Question Id : 8321474520 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Q factor of a circuit 1s a measure of 1ts
.8 Heodho ) Q sed8o e E%é8

Options :
Selectivity

D08 €8
1.v -



Retentivity
Qensdise €8

Self inductance

Soh [5es

Mutual inductance

@5%265 @80

Question Number : 21 Question Id : 8321474521 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

qV/nkT

Current - Voltage equation for a p-n junction diode 1s I =Ty( e ), Where k 1

p-n20SN KARES E8od) - Sséeﬁ 5808860 1=1,(TV/MT . LI k s30

Options :
Planck’s constant

g0 dorogo

1, %
Kirchhof s constant
%55&5 oP0E0
2. % @
Boltzmann’s constant
235§ See %:Uﬂoéo
3. =

Einstein’s constant
0558 SoroXo
e @



Question Number : 22 Question Id : 8321474522 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The circuit symbol for Tunnel diode 1s
&S BAArE BwE) Hech D)o

Options :

1. %
T ” ..’,qru [
2. %
Arviife ﬁ Cathade
3.¥
Al HI Cat e
|
4, ®

Question Number : 23 Question Id : 8321474523 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The voltage regulator diodes are

$°8a B B6b B

Options :
p-n junction diodes
p-n 30§ E@rEen

1. %

Tunnel diodes

é.ﬁclef BE@rGen
2. %



Varactor diodes

zécsvgﬁ SadrGen
3. %

Zener diodes

256 BBme&en
4.

Question Number : 24 Question Id : 8321474524 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Due to the negative resistance of the Tunnel diode, it cannot be used as
&S ERrE Go¥) (38Ere AE%EE So8rmorr, BN aer E5@EPRONB

Options :

Voltage regulator

55§a§ Qaodo(gZo
1. ¢
Amplifier
vel=le)
2. % @
Oscillator
ge%0
3. %

High speed switching

P ?:JE 2dDoR

4, %

Question Number : 25 Question Id : 8321474525 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Ideality factor “"n” of a p-n junction diode
p-n 50§ BTrE BwE) 888) s°880 “n” Dendd

Options :

0
1. %

<]
2. %

2
3. %

Lies between 1 and 2

L 1.2 a’ncﬁg 608008

Question Number : 26 Question Id : 8321474526 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The arrow on the emitter of a transistor indicates
Q)0 nE) 6er0eD &) eremo D)0 R Jr ok
) 0 o i

Options :
The direction of electron flow

QOT°R (DT &Y
1. % i

The direction of the displacement current

F(god Havise BF

The direction of the conventional current flow

BOBTPAH DesogE (B &Y
3.¢



The ground connections

2502 I
4, %

Question Number : 27 Question Id : 8321474527 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The relationship between o and P of a transistor 1s

@P&)‘Jgg Q) 0 HOcso P gy Somogio

Options :
i
P
1.4
l=a
p="7
2. % ’
1
B= ¢
3. % ’
p=o
4, %

Question Number : 28 Question Id : 8321474528 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When the transistor 1 operating in the active region, collector - base junction and emitter
base junction respectively have

QRN (Bckede (FoB06® SR 59th, V808 - errbo Hof ok PO - O3
2050 S66° dotpan

Options :
1. %



Forward bias. reverse bias

HE® 20D, BE® D

Reverse bias. forward bias

&8° 2058, HB® D

2.
Both junctions forward bias
Both Hotven HB® 2airH

3. %
Both junctions reverse bias
B0 Hotoen 8F° 2dirs

4. %

Question Number : 29 Question Id : 8321474529 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a transistor o = 0.9 then p = ?

ER)R6S° o = 0.9 o p=2

Options:
1.0

1. %
0.9

9.0

0.09

Question Number : 30 Question Id : 8321474530 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

The knee voltage for silicon transistor 1s

OS°R ((r)R0 BwE) goesd .SE§§ Qe

Options :

0.7V
4.

Question Number : 31 Question Id : 8321474531 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In an NPN transistor, the majority carriers from emtter to collector are the
NPN erR)566°, areod K08 H806 6% 868 Sogrg¥ arireres

Options :
Holes
- So|gren
Electrons
OIS
2. ¢ e

Both electrons and holes

QOS°R) SO So(gren
3. %

4, %



Atoms
ROEAD)EN

Question Number : 32 Question Id : 8321474532 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For a JEET, the value of amplification factor p 1s

JFET 8, 38 1eso p Dend

Options :

Question Number : 33 Question Id : 8321474533 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FET 15 a controlled device
FEToJ0_ JcHo|®s H6580
Options:
Voltage
S*SE
1. e

Current
Qg S (Do



Charge

. SREED
lon
OT°R

4. %

Question Number : 34 Question Id : 8321474534 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The intrinsic stand-off ratio ‘n” of a given UJT 1s
a)d UIT Gw) @888 rob-ud ) § 1 ol

Options:
0

1. %

Lies between 0.5 and 0.8
0.5 086050 0.8 é:t;ié

2. ¥

Infinite

9006850

Question Number : 35 Question Id : 8321474535 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The circuit @ symbol for an electronic device 1s

@ & Sodh Dm0 JegRE HO8TA8

Options :
Transistor
1, %
FET
2. %
UulT
3.
MOSFET
4, %

Question Number : 36 Question Id : 8321474536 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of bases for a BJT 1s
BIT & esoeore Sogg

Options :
4

1. %

o

3.¢

I~

4, %



Question Number : 37 Question Id : 8321474537 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

To turn UJT ON, the forward bias on emitter diode should be
UITR &F 300teR8, atrod SarEp H6aies Jee eowd?

Options :

More than the peak point voltage

28 JFrawots 55§a§' Z08 KN
1.4
Less than the peak point voltage
$HE Srowoes §E§£ K08 S
2. %
Equal to the peak point voltage
28 Sranodl FFPEH Jdrso
3. %
Equal to the stand-off voltage
Fob-aH SFSE. $Srdo
4. % © €

Question Number : 38 Question Id : 8321474538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When JFET 1s operated above pinch-off voltage, drain current
JFET 205-65 S°g6 808 Qg SRE00Gp0, @S @ardeo

Options :
Increases sharply
S0 DD

2. ¢



Becomes constant
?géom Gotnod

Starts decreasing

égaﬁo @ﬂiﬁoaﬂaﬁna’g)ém&:
3. %

Becomes zero
L w “’mﬁg 93008

Question Number : 39 Question Id : 8321474539 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Quality factor Q of an LCR circuit is given by
LCR Hecho G Treags s°880 Q & aer ol

Options :
oL
1. %
L
2. % R
wml
3.¢v R
3]
R
4, %

Question Number : 40 Question Id : 8321474540 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A parallel RLC circuit at above resonance frequency appears as
L0 3‘%‘63@3’3&30 %08 wb%o a‘yig Q088 RLC oddo ser EJarnod

Options:
Resistive
SRR

1. % B

Capacitive

SrBD

2. ¢

Inductive

’5101%5

Resistive and inductive

BRHS HobAk0 BOLUZS

Question Number : 41 Question Id : 8321474541 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The impedance of a series circuit at resonance 1s

@OTHB0 S (B3 Soaho @nE) ©56%0

Options :
Purely resistive

PO BORS
1.¢ =

Purely capacitive
RO 8aPRBS



Purely inductive

BT (S0

Capacitive, resistive and inductive
8BS, 6?&3@5 Pablalonby) @6%0
4. %

Question Number : 42 Question Id : 8321474542 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The relation between light and electricity 1s discovered by

5088, Athy&H® D5y Koaoprl) EPK)H JH?

Options :
Planck
Jro8

1. %

J. J. Thomson

8. 8. FraD)e
2. %

Millikan

wOsen
3, % i

Hertz

°0

[

4. -

Question Number : 43 Question Id : 8321474543 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The number of operating modes exist in phototransistor 1s

@@@PQ}Q& &) @H080h Ir&e Sogs

Options :

I

1. %

-2

2. ¢

Question Number : 44 Question Id : 8321474544 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
1s used to detect the optical signal.

Eﬁe)éé ﬁoé@ﬁ&:‘l 10805Te08 ed@reRosatheod

Options :
Zener diode
200 @6

1. %

Photo diode

, , 508 EBrE

PIN diode
e B3 E

Actuator

A58 Goeod



Question Number : 45 Question Id : 8321474545 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Einstein’s work on the photoelectric effect gives support to

5708 DS (HFPS0R BRYS DA F B DK 3:508?

Options :
)
E =i
1. %
h
E=-
2. % n
E= hv
3.
1
hv = ;nw2
4. % =

Question Number : 46 Question Id : 8321474546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which stage of DC power supply uses a zener diode ?
DC 58 SESE Q $36° BSE EGrE ed@rRoSedSH08?

Options :
Rectifier
DEHS0

1. %
Voltage divider

S8 a6



Filter
b

Regulator

Jadbo|gso
4.

Question Number : 47 Question Id : 8321474547 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The ripple factor of a bridge rectifier is
& 256520 GnE) BHS s°880

Options :
., 048

L« 0812

Question Number : 48 Question Id : 8321474548 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The maximum achievable conversion efficiency of half-wave rectifier 1s

@gééoﬁ 28650 GIng) ﬁ&g ooSHKe aﬁjﬂ%& ‘3‘36339‘50?

Options :
81.2%

40.53%
2.



30%

100%

4. =

Question Number : 49 Question Id : 8321474549 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The dc voltage obtained from 7805 IC regulator 1s
7805 IC 855866 o0& ob de 5°8&

Options :

-5V

1. %

-12V

Question Number : 50 Question Id : 8321474550 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SMPS stands for
SMPS ©0&

Options:
Switch Mode Power Supply
D PG HDO IR
&

1.¢



Simple Mode Power Supply
ODNS ;& DRO ﬁ%

Storage Mode Power Supply

TS I8 HS6 I

3% =
Storage Mode Power Storage
EBE e H56 DS

4 % gl [N]

Question Number : 51 Question Id : 8321474551 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A binary digit 1s called
B0 9085 DXoEPS:?

Options:
Byte
365

Bit

5 Al
Nibble
Qend

Word

[V
. DB0

Question Number : 52 Question Id : 8321474552 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
The base of a decimal system 1s

Bz°0d éééﬁ@é} Eimitele)

Options :

7,
1.% =

Question Number : 53 Question Id : 8321474553 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The binary equivalent of 15 1s

15 8 3505308 B _

Options :

1110

1. %

L 1100

1111

3.¢

0111

Question Number : 54 Question Id : 8321474554 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



2’s complement of 1010 1s
1010 &wE) 2 rdso

Options :

0110
1.¢

, . 0101

1010

1110

Question Number : 55 Question Id : 8321474555 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The binary addition of (1+1+1+1)1s
(1+1+1+1) GBo¥) B0 L&

Options :
100

1.¢
111

1111

1001

Question Number : 56 Question Id : 8321474556 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following gates are called universal building blocks?

8ob T8 D mrsTre FUYE Aoy &PE) o Hendrth?

Options :
AND gates
AND ey oren
1. %
OR gates
OR wrgoren
2. %

NAND gates

NAND TP OPeD
3.¢

XOR gates
XOR oegTren

Question Number : 57 Question Id : 8321474557 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In logic gates, + sign indicates
S8) mﬂgﬂﬂéﬁ + 1% BAQ SeDiHod
~ - -y

Options :
OR operation
OR SH0HS

AND operation

AND &353R
2. ®

3. %



NOT operation

NOT es5838
NAND operation
NAND e5858

4, ®

Question Number : 58 Question Id : 8321474558 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Boolean expression Y = A @ B represents which logic gate
OGS H5858e Y = A @ B D $8) meyoed) {rinob?

Options:

OR gate

XOR gate
2. ¢

NOR gate
3. %

NAND gate
4. %

Question Number : 59 Question Id : 8321474559 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The complement of the product of two variables 1s equal to the sum of complements

of the two variables is called
Sod S8 v0 o'tbaégT JPE80 & Both Sdrde Jrisee 5336‘9_3&)& R0

QN3 TPAY BEP WO

Options :



De Morgan’s second theorem

& Joeore B8N dorodo
1.¢ . i

De Morgan’s first theorem
& SPTR Sned ?JEPCI@D

Commutative law

SEmgBS o

Associative law

OEHGHAS e

Question Number : 60 Question Id : 8321474560 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Circuit symbol for AND gate 1s
AND 7i¢5 Bo¥) Seocdh D=0

Options:

1. %

n-Db—T
2. ®
3. %

4.+



A= v
Input

Question Number : 61 Question Id : 8321474561 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a Half adder, the carry output represents

58 0iribS° 5250 Do BAY Jredoh?

Options :
NOT operation
. NOT SHOAS
NOR operation
.« NOR SHOAS

AND operation

AND 5845
3.

OR operation

OR &58%8
4, ®

Question Number : 62 Question Id : 8321474562 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
To add three digits at a time we need

2,88 L1t @080 EB0oSTI8 HTH BSBEHE 26?

Options :
1.4



Full- adder
a’g}vg— ovv,lnla)

Half-adder

KRo- AeE0
2. %
Half-subtractor
D50~ DHFPEL
3. # <
Full-subtractor
5500 - SHJED
4. % K o

Question Number : 63 Question Id : 8321474563 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
To construct a parallel four-bit binary adder the required number of full-adders 1s

Hrod enih-88 @265 Air80 ﬁ&é@é@?&é @38 Jr8-airibe Sogy

Options :

Question Number : 64 Question Id : 8321474564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following voltage is used to represent binary *1” in digital circuits?

s Socres® @foé 1'% frDomd8 8o BEE o 55635 gaarAoSatidod?

Options :

L% OV

Question Number : 65 Question Id : 8321474565 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a 1:4 Demultiplexer, the number of outputs is
1:4 éé}@éé&ﬁéﬁ ?C}Ega’)aé@ Sogy

Options :

N

Question Number : 66 Question Id : 8321474566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Race-Round condition i1s eliminated in
85-3°0& é&?&;@ oSt FPoRoSEE0b?

Options :
R- S Flip Flop
. R-SP5 S
J - K Flip Flop
J-K35 5
2. %
R-S-T Flip Flop
R-S-T & @
3. @ oy ™
J - K Master Slave Flip Flop
J - K &8 8 9% 38
4.

Question Number : 67 Question Id : 8321474567 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A decoder 1s similar to demultiplexer except there 1s

&8%6 E50R8)B D9 sotwod s,

Options :

No data input

Ger aHES B
1.+
No control input
Qcho|ees B Glne
2. %



No output
05555 St

Many data inputs

Toee e 39D
4. %

Question Number : 68 Question Id : 8321474568 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the R-S Flip Flop, when the two inputs are low, then the output 1s
R-5 & ;&5@5‘5, B0t BRI SENIMT G IPI, ©JIOHE Devd

Options :

Last state

D0 D&
1.¢ ®
2. % 0
3. % l
Forbidden
InboSnBod
4, %

Question Number : 69 Question Id : 8321474569 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Number of Flip Flops required to construct a mod- 16 counter is
ar&-16 080 36@05@&)& ST §HJE_:: E?E@ Sogg

Options :
1. %



16

-2

Question Number : 70 Question Id : 8321474570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Negative numbers are coded as

Boer&)E Doggen s &8 361333?{113

Options :
1’s complement
| Gw¥) Frd¥o

1. %

9°s complement
9 GIn¥) Jrvso

2’s complement
2 GIn¥) IrdEo

3.¢¥

10°s complement

10 &) IrdEo
4. %

Question Number : 71 Question Id : 8321474571 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The number of Flip Flops required to store 8-bit data 1s
8-8¢5 Terd &“}@53@@3% OXIBDHN P& FoDO Loy

Options :
6

1. %

Question Number : 72 Question Id : 8321474572 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following logic family has highest Fan-out?
806 BS° O erlE Hevowos® OSHE JosR-0H¢ God?

Options :
TTL

1. %

DTL
2. %

RTL
3. %

CMOS
4.

Question Number : 73 Question Id : 8321474573 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following 1s a volatile memory?
808 TES° DB BB HHO?

Options :
RAM

1.4

~ ROM
2. %

PROM

EPROM
4. ®

Question Number : 74 Question Id : 8321474574 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
How many types of RAMs are available ?
Qyds*w RAM en o therens® &) ow?

Options:
5

1. %

-2

3.¢

Question Number : 75 Question Id : 8321474575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following 1s a type of EAROM ?
808 a&36° EAROM 850 26?

Options :

ROM

1. %

EEPROM
2.

SRAM
3. %

DRAM
4. %

Question Number : 76 Question Id : 8321474576 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A PLA 1s an
PLA 38 2.8
Options :
SSI device
SS1 586880
1, ®
MSI device
MSI $58880
2. %
VLSI device
VLSI 586880
3. %
LSI device
LSI 58880

4.+



Question Number : 77 Question Id : 8321474577 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For a ring counter, the number of output states are always equal to
80of Fotb &0, Q& ?géw Sogs uPEr B J&mSom Gotnod

Options:

Number of input states

D38 Hdhe o
1. % ¥ :
Number of flip flops
20 F°0e Sogg
2. 77
Number of registers
L. 6&:&35@ Sogg
Number of clock pulses
s°5 d&o Sogg
4. ®

Question Number : 78 Question Id : 8321474578 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the logic families 1s specifically adopted for high speed applications?
e Stmozrod® 06 3G oS S0 [8sgore Axgdosaton?

Options :
DTL



RTIL.

ECL
3.v

LTI,

Question Number : 79 Question Id : 8321474579 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
UART stands for
UART 08

Options :

Universal asynchronous recerver transmitter

B 5E)E @REED 8OHE (€066

1.4
Unique asynchronous receiver transmitter
e QE @R0o|ESR 656 @PQ}&&J{?

2. %
Universal address receiver transmitter
SRS EYS @R BHIB (€D 66

3. % .
Unique address receiver transmitter
05O @B BHNE @Pﬁo}ééag

4. %

Question Number : 80 Question Id : 8321474580 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which memory does not require programming equipment?

2 D508 (DEr Dol HBEPen w580 B?

Options :
PROM

1. %

EEPROM
2. %

EPROM
3. %

ROM
4.

Question Number : 81 Question Id : 8321474581 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
An ideal Op. Amp. has
&8 B5E)H0STN EHTRHS @oDHAE ZON &R VHIT?

Options :
Input resistance zero

D 8%B80 T

1. %

Output resistance infinite

&)zga’n 28%%50 edoso

Input resistance infinite

D58 A8%80 evdodo
3.v

Bandwidth zero

@505 D& T2



Question Number : 82 Question Id : 8321474582 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
An Op. Amp. has stages.
2.8 8. 0ro®. B0 8OA Gotnobd.

Options :

, 3
1. * 15

(Y]

Question Number : 83 Question Id : 8321474583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The gain of the voltage follower 1s

ﬁ?e@ 9:035P0NN ePgso

Options :
10

1. %



Question Number : 84 Question Id : 8321474584 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The units of CMRR 1s

CMRR % (H33mezren
Options :
Ohm
- 2.0
Mho
2. % &
Ampere
©0NOD0
3. %
Joules
e
4. &+ GE)

Question Number : 85 Question Id : 8321474585 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The gain of an actual Op. Amp. 1s around
T3S BHOBoR ciroPaHhs BwY) ergio TR

Options:
10,00,000
10,000

2.

1,000



100

Question Number : 86 Question Id : 8321474586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The difference between two input bias currents 1s known as

308 B oirn E8ote eSS éeg@ﬂé@“@cl [ N

Options :
Output offset current

B> SHRES K30

1. %

CMRR

, . CMRR

[nput offset current

DBE esHHeS £30eS
3. @

Slew rate

5 865

4, %

Question Number : 87 Question Id : 8321474587 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The function of low pass filter 1s to
BT D R 33%35 GoE), DG DXSe?

Options :
Pass high frequency signals

©§E Sy Jo8zred R BaHTelS

1. %

2. ¢



Pass low frequency signals

LD e DSg H08@red R BoHEeDE

Pass medium range frequencies

ales BeB PTG PR BoHEeDE

Reject low frequencies
B D KDy BBHBoLTIS

Question Number : 88 Question Id : 8321474588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a square wave generator, the output frequency fo= 1 kHz and the resister value R 1s 10
KQ then the capacitance of a capacitor 1
28 5565 860K 200", W Arehifso fy = 1 kHz HoBat Ao Dewd R=10KQ

008, 3Rl Gng) 3RERT)

Options:
SuF

1. %

- 0.5 uF

Question Number : 89 Question Id : 8321474589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The operation of a bistable multivibrator is identical to that of

é’.%ea::ef @@é@éﬁ @) GHBHS 8 Jdrdorre eotnod

Options :
Oscillator

1 % &e¥o
Counter

- o
Flip Flop
8. = ==
Converter
55555

4. % -

Question Number : 90 Question Id : 8321474590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following multivibrators 1s unstable in any state ?
808 86" D PRSI wiborr &od HHJELE d6?

Options :

Bistable multivibrator
B DenS OB Eed

e g fye—

Astable multivibrator

oS HHRFE

2.

3. %



Monostable multivibrator

IS QoS HOBEeE

Both bistable and monostable

B QoS LBt S Hand Bokr

4. %

Question Number : 91 Question Id : 8321474591 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[n an Instrumentation amplifier using transducer bridge, which device measures the change
in physical energy ?

) ingiSB (D4R eiEPiod aSoBS oirodpBe’, TR ety

20890 Eenhod?

Options :
Indicating meter

50008 §rerb

1. %

Inductor circuit

@88 Sexcho
2. %

Resistive transducer

Q&P @P%}dﬁéﬁg

3.¢

Capacitive transducer

SRS (LR g0

4. %

Question Number : 92 Question Id : 8321474592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Sawtooth wave can be generated through
5055920 SBorry é:?&mﬂogoﬂ 88 6&:&61&3

Options :
Schmitt trigger
5 &

1.¢

Hartely oscillator

ﬁgé‘f} &e¥o

Colpitts oscillator

S5 €9) &er%o

Crystal Oscillator

é&éﬂ-é Ee¥o

4. %

Question Number : 93 Question Id : 8321474593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A multvibrator 1s a circuit, which generates

HYIEeE 3 Sodho D &) Tod?

Options :
Triangular wave

- (B8hersed SBoiio

Square wave
5 o DB SBoNo

Sine wave

2R SBolKo

3. %



Sawtooth wave

. B0 Eﬁéjcl Slelelple)

Question Number : 94 Question Id : 8321474594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IC 555 timer operates in modes.
IC 555 856 r&es® HATK0H.
Options :
Single
| x 88
Two
, x OO
Three
3 @ SO
Four
4 % e

Question Number : 95 Question Id : 8321474595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For the trigger voltage less than ¥:VCC, the output of IC 555 is

/5VCC 808 8893 (8B 578 §%0, IC 555 g A3E Devid

Options :



Low
. éé)ga’)
High
53.."—‘;337&’)

4.+

Question Number : 96 Question Id : 8321474596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of flip-flops required for constructing a Mod-12 counter 1s
SrG-12 508b Vep) eeR8 @R @5—%5@ dogy Jo&?

Options :

6

1. %

LN

4.

Question Number : 97 Question Id : 8321474597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The smallest change in the input signal that can be detected by an instrument s called

a8 36850 tsoe 1H00iSIHOR A $08806° ©8 05) SP der Hevdth?

Options :
1. %



Accuracy

PLNBS0

Sensitivity

. Q0 S0
Resolution
633@3?5&5

3.
Precision
=T - Y.

L @RAR

Question Number : 98 Question Id : 8321474598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s the fastest A / D converter ?
808 8S° @508 IKS0EFS A/D éé{ggﬁ 0?

Options :
Flash type
| =n)
o &°R 880

Integrating type

308 80oh 8¥o

Ramp type
o0 B0

Successive approximation type
DI ﬁ@ﬂcmo@ 80



Question Number : 99 Question Id : 8321474599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[f a 5-bit ladder DAC has a digital input of 11010 then the output voltage wll be
(assume that 0 corresponds to 0V and 1 corresponds to +10V)

5945 €rts6 DAC a8 95945 11010 $9R o), eidpto eidEHE TPE_ ool
(0, 0V 8 eoifeaorm 603 Bk 1, +10V & eidodeaore ot erdotdod)

Options :
-6.5V

1. %

+8.125V
2.

- +6.5V

-8.125V

Question Number : 100 Question Id : 8321474600 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
How many comparators are used in a 4-bit flash Analog - to — Digital Converter ?

408 2 wierhi-tn-8abd §55856° aR) Sodrdubeid 63GRAYG?

Options:
5

1. %

4.








